|:| D |:| D |:| D ugobooooboboooobooo

O
U0Oo
ooooo 1.100

0(1.38) 000000000000 0oO0OOULO0obUOODOODDOOoLDO
0000000o0ooooD (1.38) 00000000 x0O0ooo

9(@) + p- bixiix (b glmr) < 0) (S.1.1)
g

(x) (otherwise)

0000000D0yg(x)0g(x) 0O0000O0D0O0OODODOODDODODODOO
ooooo

oo wvuooboooo z,000000000DO00O0CODOOCODOO
O00g(xe) <00000 2, 000000000000O0DOOOODOOOO
oooooooooooooboooobooooooooooooobooooDoo
00000000 (S.1.1)00 1000000000x, ewy 00 b, =1000
od

g(xr)' = g(xk) + p - bexi'xy
g(@r) +p - |Ixell* > g(zx) (S.1.2)

00000000000000000000 g(xe) 00000000 g(xe) O
gbooooooooobooboboooooooooobobobooboooog
U0 w, 0000000z, 0D00000D0DODODODOODODOOOObL, =-1
00000000 g(xee) <g(xpy) 000000000001 000000OO0O
goboobobooboobobooboooboon
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ooooo 1.200
uooooooooooon

g(z) = wo +w'z (S.1.3)

00000 1000 (1.30) 00000000 € w; 000000g(z) > 00
tc€w 000000g(x) <0000000000000000000200
0000 (21,2,) 0000000000 S.1.100000000 g(&) =00
000000000000000000000000000000000000
g(x) >000000000000000g(x)<00000000000000
00000000000000000000000 200000 g(z)=00
000

0S.1.1: 0000ooggd rg
oo
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000200000000 2,000 2, 00000000000 OC0O0ODODO

g(xa) = wo + w'az, =0 (S.1.4)
g(@p) = wo + w'ey =0 (S.1.5)

gbooooooogoogog
w'(z, —xp) =0 (5.1.6)

00000000000000000000000 wOOODOOO0O0000
0000000000wOO00O00000000000000000000]0
00]0028000000@0MO000000000000000000000
g(z)>00000000000000000000 g(#)<000000000
00z, 000000000000000000 2. 000007 (>0)0 a0
¢, 000000000«, 0000000 wODOOO

w
T =T, 1 m (S5.1.7)

0000000000 £002z, 0 g(z) >000000000 +00x 0O
g(x)<00O00O0ODUOD —000D0O0ODOOUODOOO0Ox. 000000
coooocoooooooo

g(x.) = wo + w'z. =0 (S.1.8)

0 (S.1.7)0(S.1.8) 00 2, 00000000 (S.1.7) 0000000 w0000
0000 (S.1.8) 00000

t

wtxy :wtwcirkﬁ (S.1.9)
= —wo £ 1 || (S.1.10)
gooooooooo
+ry, ||w|| = wo + whay,
= g(xk) (S.1.11)
goboobobooboooboo
r = 90| (S.1.12)
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ooooo 1.30
0 (1)

000000 200000000000 o0O0O0O0O000O s.1.200000
00 viilw, 00000000000 0O00O000O0OO0DO0O00OO0OO0ODO
gooooooooooooa

Jdo000d0oO000ooo0o0ooooooOoe8O0Ud0ObDOODYOOooOn
00000000 400000000000000000

w = (wo,wy,ws)" = (14, =7, 4)* (5.1.13)
10
AX 5
8 AX 6
X
(Ol AT
6 AX 8
X
N
x o 1
4 ®,
oX 2
X
2 o 3
oX 4
o ‘
0 5 10

0S.1.2: 0000000000000
O
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0 (2)
0S.1.300000000000000000000D00000O0O0O000Og
0d0DO0OdooOoDoD terDO00OD0OO0OO0OO0O0 mOODOOOOOO
0000000000000 Hyoooooooooooooooooooo
O0odoooobooobd wvilw DOODDOO0ODOO0O0O00 402 00000
00000000000 0000000000o0oo00dd”d,D00000n
000000 H[yOoH, ODOOOoOooooooooooo

10 ‘
iter = 68

Oe ., Al DOODOODODO

0S.1.3: 0000000000000004§ =00
0
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00o0oo0d x40 00 HoOOOODODODDODO ROR, 0O0ODO

Ry = 0.496
(S.1.14)
Ry = 0.744
0000000000000 ROODHOH, ODOOODODOOODO
R=Ry + Ry =0.496 + 0.744 = 1.240 (S.1.15)

oooo

oooono 1400

00000000 6=10000000000000000000 (147)0
Oooooooooooooooo 44660000000 89000000000
goooo 4000000000000 00O0OLDODODUOOUDODUOOOOOT

w = (wp, w1, ws)" = (92, —29, 10)* (S.1.16)

goooooooooooooood HpOOoOOooooooooooDoD /Hy o
H,00O0OOO S.14000000000000D0000O00DOODOOOOOO
oot w00z, 0000000000000 0w, 00 x, 000000
00000000 10000«6000M000000 202,00 HoOOODO
0O ROROO00OOO

Ry =1.141
(S.1.17)
R, = 1.337
0o0oooooooo RO
R=R, + Ry = 1.141 + 1.337 = 2.478 (S.1.18)

oooo

0S14000000000 S.1.3000000000O0DO0DUOO0OODOOO
0000000 é0000000000000O00000O000O0O000OO
goboooooooooobobooooboooooobobobooboooog
oo00ooooooooo0oooOooooooOoOOooOoUooOoD sa1.3000



oooood 7

H
H1 0 H2
10 T T
iter = 466
A
8 I A
(O]
1
6 I A
N
< [ ]
4f ,
2 @)
[ J m=4
0 .
0 2 4 6 8 10

Oe, Al OOODODODO

0S.14:0000000000000000=10
O

r, 0 HoOOODDODODOODDODODODODODODODOD0O0OO0oooooooooo
gobgooboooboboobooboooboobboobbooboooboo
gboooooooooboobobooooooooooboboboobooooog
gooo

00000 S.1.4000000000 HoOOODDODODODODOO 6=10
O0o0o0oooooooo0o Ssa30000000ooooDoooooUoooDoo
000000012400 2478 000000000000000d=10000
gboooooooooboobobooooooooooboboboobooooog
gbooooooooogoogon
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U0Oo
00000 2.100
00000000 x (k=1,...,n) 00000000000 wOOOOO

3

(d+1)000000000000 (1.16) 00

X = (mkg,xkl, .. .,kad)t (D oo Tro = 1) (821)

w = (wo, w1, ..., wa)" (5.2.2)

) )

00000000 J(w)00000 (226)00000 nx(d+1)000000
0XO0O00OO0O0oo0oo

000000000x, 0000 5 (j=0,1,...,d) 000000000 (2.25)

Ja(w) = % > (whxi — b)) (S.2.3)
k=1
X = (x1,X2,...,%p)" (5.2.4)

0(S.2.3)0 Ju(w) D w; 000000

D) 5w~ be) (529

k=1

000000000000 w; 0000020000000 h; 0000

9% J,(w)
= @y (i,§=0,1,...,d) (S.2.7)
k=1

0000000 H = (hy) D00D00000000000 HOO(G,5) 00
0 h; 000 (d+1)x(d+1) 000000000 HO J(w)00O0O0O0OO
(Hessian) 00000 (S5.2.7)00000(d+1)x (d+1)000 XX O (,5)
00000000000000000

H = X'X (S.2.8)

gobogo
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0000y#000000 (d+1)0000000 yOOOOy'HyOoOOO
0000 (S.28)00
y'Hy = y'X'Xy
= (Xy)'Xy
= || Xy|* >0 (S.2.9)

0000000000000 000D0 HOOODO (positive definite) 0 000
00000 HOOODODODODODODOOOO Ju(w)yOOOQOOoOoGO (strictly
convex function) 00 0O

000000000 J,(w)0OOOUOOODOO0DODO0O000O (convex program-
ming problem) 0000000 J,(w)O0ODODOODODOODOODD (228)00
gbooooooboobooboboboooooogoo

goboooooboboboooboooobooooboooobooooobogoon
0000]000 Al0D0OooDooOoO

ooooo 2.200

082100000 v»iyhDwODwsOOOOOOOOOOOoOODODOOOO
oob0o00obooboobOoboobobooboboobooboobuoboooo 2.800
goboobbooboboobboobbooboooboon

goooboobooodb v»yOoboobo0 myo0oobooDbDOoo
00000 vy 0000000 obbibld w000 Db wsOOOOoOooooOog
000z, 0000000000000000 ze(ew) 0000DO0D®, 00O
gooddd wvi0bb e DDODODDODODDODODODOOOOO 24000000
0000 (234)0000x=x0y=a¢0x' =2, 000000000000
0z, 0000 r(x;) O

ray) = NEe =@l VB _ 0686 (S.2.10)
lz1 — el V17

oooooooooog
0000000000 4w 000000z =240y =a¢0a’ =2, 0000
cooooooo

s — 6]

= =1 S.2.11
24—l (5:2.11)

r(z4)
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10 T T T T 1.0
X X
9 e ! (O] e 2 0.9
1
X
8 o 3 0.8
X
7T o ¢ 1 07
X
6 A S 1 0.6
o~ w A 6
< 5 5 05
X X
4 At m° 1 0.4
X
3r A8 1 F o3
X X
5 a lig 12 1 F oz
X
() o 10
1 3 0.1
0 : — 0.0
0 2 4 6 8 10
X

0S.2.1: 000000ogog30oog
O

gobogoboobooobooboobboobooobuoobbooboo
goog

r(zy) = 0.686, r(xz)=0.707, r(xz)=0.901, r(zy) =1

r(zs) = 0.686, r(zg) =1, r(z7) = 0.667, r(zs) = 0.697

r(zy) =1, r(z10) = 0.644, r(x11) =0.972, r(z12) = 0.825
0000000000000000000 100000 0z4(€ w)0zg(€ we)D

ro(€ws) 0 300000000000000000U0ODODOODODOOOD
gboooooooooogogo
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Ubobbd 00000000000 vy 00000 02302, 0000
ooooogoooooopooooD 3000000000000 w0000
rs JO0000000O00000000000 z, 00000000000 w; 00

0 S.21:0000000000000O

0 T w, - T, T, EVEEE
1 T, W, O T,

2 Ts [ O T

3 z, W, O z;

4 5 w, X T T ; ZBMEK
5 T w, O T, Ty

6 Ty w, O T, Ty

7 Tg w, O T, Ty

8 Ty W3y X T, Ts T g EBMER
9 T Ws; O |z;z; zy

10 T4 Ws; O |z;,z; =z

11 T Ws; O |z, 35 zy

12 Ty W, O |z, 35 3

13 Zy W, O | z;25 2y

14 z, W, O |z;,z5 zy

15 T W, O |z;,z5 zy

16 Ty W, O |z;,z5 zy

17 Tg W, O |z,z;5 zy ES
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goooooooooooooopoo zs 00000 400000000000
gbobobobobobuobobobil w0000 zeUxrUxs OO0
U0z J0000O0DOO0O0O0O0O0OO0OO0CCOO0OD0OO000D0 w3 00000 o9
toodboboiob0bOws 0000000000000 DOOOOOOCOOOOOO0
r0o0o0boboib vy obobgobobgbobobobobg ze00O0O
oo g8oopoopoopooDpOoOoOoOOOOOOODOOODODDODDOO
000900 1700000000000 O0DODOODOO090DODO0OO0OOOO
ooo0000ooooooo0 17000000000 0O0O0DOOO0O0OOOO0O
0z, 0z:02y 00000000000 S.22000000000000000
ooooooooboboooo
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Oe,a,m0 0000000
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U0Oo
ooooo 3.100

0000 4H, 00DkODDOO0ODOOOO0DOOdODODO0O0OODOOODODOOOO
0000000000000k =50d=3000000000000 (3.40) 0

i1y +r3 =29
P (S.3.1)

r1,T2,T3 Z 0

ooooooOOoO0ODO sH; 000000000 000000000D0 300
ooooooooooooooooooosbooOoobobooboooOoboOoooDooonoo
0002000000000 30000000000000O0 S.3.10 (a)o
()00D0D0D0O00D00000e 00000 DODODODDOOO

o|loo]| oo | oo| ooo0

(a) (b)

oo| |ooo oooo0o0 | |
(c) (d)

0S.3.1: k00000d4d000000000k=5, d=30
od

000 r,re,rs 0000000000 r,r,7s 0000000000000
00 (a) 000(r,r,rs) =(1,2,2) 0000000 000000 (b)O(c)D(d)
0000 (r,m,r) 000000 (0,2,3)0 (2,0,3)0 (5,0,0) 0000

00000000000 5000002000 7000000000000
000000000000070000000000000000000 20
0000000 5000000000000000000000000000
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000000000000000000000000000000000000
:Cy=,Cs 0000

0000000000000000k00000 (d-—1)000000000
0000000000000000 ¢441Ce 00000000

de = d+k71Ck (532)

00000 (341)0000000

ooooo 3.200

0 (1)

00000000 p0000000000O0OO (36)00000000O0O0O0O
DOD0O0OO0OO (homogeneous product)d ¢ (x), ..., ¢p(x) 00D DOODODOO
ooooooooge}l-----2f0000000000000000O0OOO

d
217 <pO

r;>0 (j=1,....d)

(S.3.3)

0oodr (j=1,...,d 0000000

00000000000000000000000000000d=2,p=3
000000000000 (3.7)0(3.9)00000000

oooooo: 1
100000: T, D)
(S.3.4)
200000: 2, 139, X3
300000: v2ry, w3, 3, X3

000000000000 1000000D=100000
00000000 (S$.3.3)0000 (rq, 7y, ..., 7q) 000000000000
0000000k00000000

r+re 4, +rg =k
r; >0 (j=1,...,d)

(S.3.5)
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oooooa (rq, re, ..., rq) 000000000000 O0OOOOOOO 3.1
goboobooooo

de = d+kflck (836)

0000000000 0000 30000000000 (S35 0d=20k=3
ooo

T 4+re =3 (S.3.7)

00o0oooooo (m, r) 00000000000 0O0OOODO

(le 7‘2) = (27 ]-)7 (]-7 2): (3, 0), (0, 3) (838)

04000000 (S.3.4)0

2 2 3 3
TiT2, T1T5, Ty, T

000000000o0oo (S3.6)0000d=20k=30000
oH3 =4C3 =4 (5.3.9)

ooooo00
0(S33)0000000000 k00000k=0,1,2,...,p0 (p+1)0
00000000 (S.3.6)00 f(d,p) O

P

fld,p) = Z aHi = Zd+k71Ck (S5.3.10)

k=0 k=0
0000000 (342)000000000000
00000000 (3.10)000000000000000000000000
goo

nCr=n1Cr +n1Cry (S.3.11)

ooooooboooooboooobobOoboooooDoboDo0 r=n000
ocoooo 1o ,4C,0000r=000000000 200 ,4C4,00
cooboboooooooooooboooOoboOooOoOooooOoooOoboOoooboa
cooobooooboooobooooOooOoOoOoobOboOoOoOooOoOoobooOooonon
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0 (8.3.11) 00
n-1Cr = nCp —n1Cry (5.3.12)
oooooooooood0r—kOn—d+ k000000
d+k—1Cr = a+£Cl — d+—1Cr—1 (S5.3.13)

0000000000 (S.3.10)00

p
f(d.p) = arr—1Cx (S.3.14)
k=0
p p
= Z d+kCr — Z d+k—1Cr—1 (S.3.15)
k=0 k=0
=4Co+a11Ci + -+ +a1p-1Cp1 + 41,Cp
—dCo — a+1C1 — -+ — a4p-1Cp1 (5.3.16)
= d+pcp (8317)

000000 (3.10)00000000000 (S.3.15)00 20000 4-1C_4
000000000000000000000000000000000000
0(S.3.16)00000000

0 (2)

0000 (1)000000000000d=2, p=30000000000
(5.34)0000 (1) 00000000000 (343) 000000000000
0000D00z,000000 20000000000 1002,0000000
20000000000000000000

000000000010 2,00000000000000

2 3
1: L1, Tp, Iy

040000000000000 2,000000000000f(d-1,p)0O0O
coooogoooo
ooooooooogo 20 00000000000

2 2 2 3
T3, Tr1T2, Lo, TiT2, T1Ts, Ty
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060000000000000D000 2,0000002,00000000
goboobbz0000bo0bbgobogn

2 2
]-7 Ty, T2, Iy, T1T2, Ty

000000000000 zg000000DO0O0OOO f(dyp—1)0DO0ODOOO
ooooo
00000 f(d,p) 00D0DDO0O0O0DO0ODOOOODOODOODOOOOOOO

0000000 (343)0000000

0000000000000 (3.10)000000
000d=10000000000000001, 21, 22, ..., 2200000
0000 (p+1) 00000

f(Lp)=p+1 (S.3.19)
ogoooooog (3.10)DDIZID d=10000

14pCp=p+1 (S.3.20)
ogoooo

f(,p) = 145Gy (S.3.21)

0000d=100000 (3100000000
00 p=10000000000000001, 24, ..., 2400000000
0(+1)00000

fld,1)=d+1 (S.3.22)
00000000 (31000000 p=10000

a11Cr=d+1 (S.3.23)
ooooo

£(d,1) = 441Cy (S.3.24)
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0000p=100000 (3.10)000000
0 (3.10)00(d—1)000 (p—1)00000000000000

f(d - lap) = d+p—lcp (8325)
fld,p—1) = a4p-1Cp (5.3.26)
00000ooooo (s3.18)00oooo
f(dap) = d+p—lcp + d—l—p—le—l (8327)
— 1) —1)!
_ (d+p—1)! N (d+p—1)! (5.3.28)

(d—1)!p! d'(p—1)!
dd+p—1!+pd+p—1)!

d! p!
_(d+p-1)1(d+p)
N d! p!
_ (d+p)!
d! p!
= 4+pCp (5.3.29)

00000d, pO000O000 (3.10)0000000000000000000
000 (31000000000

goooo 3.300
0 (1)

0(3.33)000000200000000 @y,...,2¢ 0000000000
00 100000o0ooooooo

$(xy)=(1,1,5,5, 1, 25, 5, 25, 1, 125)" )

d(zs) = (1, 3, 2, 6,9, 4, 18, 12, 27, 8)*

B(xs) = (1, 4, 3, 12, 16, 9, 48, 36, 64, 27)* (5.3.30)
d(zs) = (1, 5, 6, 30, 25, 36, 150, 180, 125, 216)*

d(zs) = (1, 2, 4, 8, 4, 16, 16, 32, 8, 64)*

#(z6) = (1, 6, 1, 6, 36, 1, 36, 6, 216, 1)* J
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0000000000000 00000000D00000000000p=110
gobooobboobboboboooboobboooboobDwoobooo
oooooo 5000000000000 S8 10D00oooooDooDOODODOD
goooooooob ed0OooooooooooboOoDwOOoOooooo

W = (wl,...,ww)t

= (81, 198, 196, 342, 410, 370, 416, —686, —174, 28)' (S.3.31)

00000000 g(z) 000 (3.22)0(3.33)0(S.3.31) 00

g(x) = w'eo(x) (S5.3.32)
= 81+ 19871 + 1967 + 342z, 29 + 41027 + 37073
+4162329 — 6862125 — 17423 + 2823 (S.3.33)

0S8.3.1:3000000000000000wO0O0O0OO

=Ry wy  wy wg Wy W; W Wy Wg Wy Wy
0 0 0 0 0 0 0 0 0 0 0
1 0 -4 -1 =25 24 11 -145 -156 -124 -91
2 2 2 5 -10 -2 11 -90 -114 -40 5
3 4 5 9 -17 -1 18 -169 -221 -73 -51
4 6 11 15 -2 21 36 -114 -180 11 45
5 7

13 14 -14 21 12 -198 -812 -25 -136

05 80 192 195 331 380 371 345 -699 -306 33
66 81 197 196 341 401 368 395 -683 -223 4
67 81 196 197 338 398 37T 384 -690 -230 65
68 81 198 196 342 410 370 416 -686 -174 28
69 81 198 196 342 410 370 416 -686 -174 28
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000000000000000 g(xe)=00000 200000000000
000000 S.3.2000000000000000000O0O0O0OO0OO0O0O
ob0od00o0Db0ODOOD0OO0ODODD milw, ODO00OOODOODOOOOOOD
gbooooooooobooboboooooooooobobboboobooooog
gobobbboooduobbedablbbOOoooobbbbooooooboDbDD
gobooboobobobboobooobooboo

0 (2)
gobooboboooooobooboobooboooooboboobOobbo0b «OOOn
0000 S.3.2000000000000000000D0OO0O0DOO0O00 @

Oe, Al OOODODODO

0S.3.2:3000000000000
oo
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0S.3.2:300000000000000000 00000

xRy | a;, a, as ay as Qg

v N W~ D

L™ WO~ D
P SV L e
T D DD

65 31 51 63 18 32 15
66 31 52 04 18 33 15
67 32 52 04 18 34 15
68 32 52 65 18 35 15
69 32 52 05 18 35 15

oo0o0ooooooono
a=(ar,...,a5) = (32, 52, 65, 18, 35, 15) (S.3.34)

0000000000000 0O000bD0D0OUD ()oooooooDooDoDo
000 a #0(k=1,...,6)00000000000000O00O0O0ODOODOO

Y

0000 be(k=1,...,6)0

(by,....,bg)" = (1, 1, 1, =1, -1, —1)! (S.3.35)

0000000 (3.33)0(S.3.30)0(S.3.34)0(S.3.35) 00 (3.28) 000000
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000000ooooooo g(e) O

g(x) =" arbrop(zi) p(x) (S.3.36)
k=1

= 81 + 198z + 196z2 + 342z 22 + 41027 + 37023
+41623 1y — 686,23 — 17425 + 2823 (S.3.37)

00000 (S.3.33)00000uooooooooon
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U0Oo

oooono 4.100
gobogoboobooobooboobbooboooboobbooboo

coooooboooooooo

gooogo
000 ddodouoooog «0y 0O

t

T = (wla"wmd) (S41)
Yy = (yla"'ayd)t

00000 (47) 00000« 0 y000000
|z —yl|
K(z,y) = exp <— 57 (S.4.2)

0000000000000 000000000000000 K(x,y) O

2
T -y
K(x,y) = exp (—%)

[Edls lyll? z'y
= exp (— 52 | P |~ 5 |exp | — (5.4.3)
00000000000 300 Fle,y) DODOODOOOOOO
T = xk
e = ZH (S.4.4)
k=0
gobgoooo
(21 + 2ot )t
k! k1, .k k
0= Z m1’111‘22 "'l'dd (845)

k1+ko+,...,+ka=k
kj>
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F(z,y) = exp (i—f) (S.4.6)

_ & 1 k 1 k1 kq k1 kg
=22 o) Rttt (847)

k=0 ki+,...,+kq=k
k; >0

Fk(may)

Il
L

D—oo

D
= lim Y Fi(z,y) (S.4.8)
k=0

00000000 Fe(e,y) 00O (S4.9)0000000000000000O0O0

Fk(:’v:y)
def 1" 1 k1 ka, ki1 ka
= Z o2 ) Tl gL YL Y (5.4.9)
ki+,...,+kqa=k
;>0
1 k k k k
=Y () (I (®) () (a0
k! - kgl \ o o o o
kit,..,+ka=k
k; >0
ogooooo

ki+ ko+,...,+kqa =k
kao (jZl,...,d)

(S.4.11)

0000 ky,ky,...,kgk 000000000 7, 000000000 3.100
(3.41)0000000

ng = de = d+k_1Ck (S.4.12)
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0000000000000 U0U00UOUky, ke,...,kgO00O0OO

r 1 . k1 . kq
def 1 d
uk(m; kl,...,kd) = m<?> <;>
1 k1 kg
def Y1 Ya
\ k(y 1 d) k1!---kd!<a> (a)

0000000000 AO00O0Ong OO0 uk(x; k..., ka)Dur(y: ki, ..., ka)
000000 00000000000 uk(z)0uk(y) 0000

(S.4.13)

Fk(may): Z uk(m; kl:"'akd)'uk(y; kl:"':kd) (S414)
ki+,...,+ka=k
k; >0
= ug(z)" ug(y) (5.4.15)

0000000000000 ue(e),w (x),...,up(z) 00000000000
00 vp(zx) 0000000000 DOO (S4.12)0 n, 0000

D
D=>"m (S.4.16)
k=0
ogooooooo
nog ng np
vp(x) = (ug(m)', ..., w(z)',.. ., up(z) )" (S.4.17)
b

vp(y) = (uo(y)', ..., ur(y)', ..., up(y)")’ (5.4.18)
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0 (S.4.3)0(S.4.8)0(S.4.15) 0 O

K(xz,y) (5.4.19)

o (=Y (Y < 1o

=exp | =5 Jexp = 5 ) Flz,y) (S.4.20)
212 2 . D

= exp <_ ”20”2 > exp <_ ”;JL > DlgnooZFk (z,y) (5.4.21)
k=0

= lim ED:exp _||m||2 ug(z)" - exp _||y||2 ui(y)  (S.4.22)

HOOk:O 202 k 202 k o

googoooo

(S.4.24)
6w e (—”f”f) )
gooo
Kia.y)= Jm_¢(@)'9) (5.4.)

000000000 ¢(z)0¢(y) 000000 DOOODOOD —»oo000
0D—-oo0000000000K(x,y)00000000000000000
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00ooo0o
0 (S.4.1)00 (S.4.3)000000000000 (S4.3)00 300 Fy(x,y)
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def z'y

= exp [(&1y1+, ..., +Taya)/0”] (S.4.27)
d

_ Ti Y5

- j:HleXp ( - U) (S.4.28)

0000000000000 000 (S44)000 kO00O0D0OOODOO 100

oooooooooog*t

oooood

.
exp (_1.
a

googoooo

0000000000 kO
u;(y) 00000000

00 :L‘k71
= ; k= 1) (S.4.29)
J = 1 z; j k—1

%):g;@—1ﬂ(;'%) (S.4.30)
N 7 ) g Yol $.4.31
;\/(k—l)! V-1 (S:4.31)

def (zj/0)" "

up(x;) = =
(5.4.32)

u ( ) def (yj/g)k_l

k\Yj;) = (k; = 1)'

000000 DOD0DO0ODO0D0O000 uj(xe)O

P P

(S.4.33)
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000000000 (S.4.31)0

D
i Yi =y 4 :
o (2 2) = i St
= lim u;(z)"u;(y) (5.4.34)
D—oo
0000000 (S4.28)00
d
Fy(w,y) = lim [T u;(x)u;(y) (S.4.35)
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0000 Fy(e,y) 0000000000000 0O0ODOOODODOOOOOO
gobgoobobooboooog

000d=100000 (S4.35) 0

Fi(z,y) im uy(x)'u(y) (5.4.36)
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D—o0
00000000 w(x)Uuw(y)0OD -oc00000000O0O0ODOODODO
O0F(x,y) 0ODOODODOOODODOOODODOOODODOOODODODO

0000000000 DO0O00OO e(z)laly) 00000

a(@) = (a1(@), .., i(@), ..., ap(®))

t (S.4.37)
a(y) = (al(y)a cee aai(y)a cee ,OéD(y))

000 ai(z)0e(y) 000000 dOOODODOD 20y 000000DO0O0ODOO
0000 e(z)Da(y)00:0000000000000D -oc00000O0O
0000000000000 F(z,y) 0000000000000 00 a(x)0
a(y) 00000000ODODODOODODOO

D

Fa(z,y) = lim_ Z ai(z)ai(y)

= lim a(z)'a(y) (5.4.38)
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0 (S.4.33)0(S.4.35)0(S.4.38) 000000 Fypq (x,y) 00

Fd+1(m:y)
0= lim Fy(@,y) us(2) aar (y) (5.4.39)
D D
D= lim ; ai(z)ai(y) ; up(a+1)uk (Yat1) (S.4.40)
D D -
0= lim YN ai(@)uk(@ar) e (y)uk (Yasr) (S.4.41)
i=1 k=1
ogooooon
bi(@) = ai(@)ur(@as) (j=1,2,...,D? (5.4.42)
Bi(y) = ai(y)uk(Ya+1)

000 B;(x)08;(y) 0000000 (S441)00000000000 (S.4.42)
0000000000000 1,...,D0000000000000 (S.4.42)
000000 ,j;00000000001,...,D20000000000000
000000000000 S.4.100000 0000000000000 050
kO0D0O0D00D00D000D000D0000000000 «0b00000a0
bO0D000D00D0000 div(e,b)0000 rem(e,b) 00000i0j0k0000

i=div(j—1,D)+1 (S.4.43)
k=rem(j —1,D) + 1 (S.4.44)

0000000000000000000 ;000 8(x)06;(y)000 D20
00000000000 B(=x)0B(y)00000000

B(x) = (ﬁl(x),--.,ﬁj($),...,ﬁD2(w))t
{ ,@(y) = (ﬁl(y),---,ﬂj(y),...,ﬁDz(y))t (S.4.45)

00000000 (S.4.41)0

D2
Fupa(w,y) = lim 3 6;(2)6(y) (S.4.46)
= lim B(z)'B(y) (5.4.47)
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0000F,;(e,y)000000000000000000

0000000000000000d0000F,(z,y)0000000000
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00000000000000000 ¢(x)0 ¢(y) O
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00000000 (S.4.49)0
K(z,y) = lim ¢(z)'d(y) (S.4.51)

00000000 D —»oc00000¢(x)0¢(y) D000D0DOOODODOOO
UO00K(x,y) DODODODODODOODOOODOOOOODODODOUODO

(S.4.50)
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00000 S4.20000000000000000D0000O0O00OO0O 500
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0000000000 (S.8.35) 000000000000 (S4.52)0000
0(4.9) 00000000000 g(z) 0
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k=1

=3 -K(z,z1)+2 - K(x,z2) + 1 K(x,x3)

—1-K(x,x4) —4-K(x,x5) — 1 K(x, xg) (S.4.54)
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000 S.41000000000000 (S.4.54)0 K(z,2,) 000 (47)00
00¢=2000000000

(k=1,...,6) (S.4.55)
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6
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k=1
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K(z,z) = (1+ziz)* (k=1,...,6) (S.4.59)
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0000000
g0(x) E g(x) - by (S.5.2)

Oo0o0ooooooo HiOH, OODO
go(x) =0 (5.5.3)
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oo r O
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(S.5.4)
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0000000000000 0000000000000000Bw; O
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0000000D0000000050000+60000000
0 (S.5.10)0(S.5.11) 000000000000 g(x) 000
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k=1
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0 (5.106) 000000000000 000000 A 00MDONDONODOOO
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coooocooooooobooboooo
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0 (S.5.16)0(S.5.17) 000000000000 g(e) O

g9(x) = wy + wizy + wizs
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00000000000000 4 000000000000D000Om =500
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6
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w* = (w},w3)" =Y A beay
k=1

= (-0.8571, —0.5714)" (S.5.20)
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wi = 4.7143 (S.5.21)
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00000000g(x)=0,1,-1000000000000000000 HeO
H,O0H, OODODODOOOOOOO0OO0 Ss.30000000 HoH, OO DO O
1.94150000¢, =01 0000000000000000000O0000O00
(5.101) 000000000000 D000D0 24, 00000000 24,0000
coooooooo

0000000000000 (5.102) 0000000z 0x0xe 0 3000
000000000000 H;, 000 H,0OODODODO (5.103) 0000000
000oooo (5.104) 0000 302 02000000000 HoOOOOO
coooooobobocoobooooboooooo



oooood 43

Oe

0S.53: 00 SVMO000000000D000000000 (¢pe = 10)
oo

Al O0O0O00O0O0ODOOD

)

00000 5.400
O (1)

000000 K(z;,2;) 0000 (47) 00000000000 =2000
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cooboboooooooooocooooOoboOooOoOoooOooOooOoOoboOoOoobooo
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wy 0000000
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